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In the following question, select the number which
can be placed at the sign of question mark (7) from
the given alternatives.

i vy & Rr or Reeedt & @ oy R
(?) % TUE W HA ael TE&A H AT

| WO

27 | 22 | 23

Options:
1) 16

2) 18
3) 20

4) 22
Correct Answer: 18
Candidate Answer: 18

QID: 102 -
How many triangles are there in the given figure?

A o1 st A et et ¥

Options:
1)4

2)5
3)7

4)8
Correct Answer: 7
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QID: 103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-! are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 (o 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘P” can
be represented by 01, 85, etc., and ‘S’ can be represented by 13, 86, etc.
Similarly, you have to identify the set for the word “CRAX”.

TF QRE Had UH FEI-HHE gRT g 7T &, o fF feedr & @
ot v A Ry o ¥ fawedt # Bu o dwm-wag st & g aot
R gefw v ¥ St Ry Bu ae o) sneggl & # siegel & war 3R
afts & Goar 0 @ 4 § 3 e A 5 8 91 B meypl ¥ w36
@ et sEhr ifn 3R ag § worw wwar g ol S w6
3ETer & faw ‘Pt 01, 85, 3y grw gaifun S gwar € awr ‘st @13,
86, N &R gufr an @&war ¥ W Gt @ i UM A RU g
“CRAX” & AU TE =l Ugde=T g

Matrix-1 Matrix-ll

gl Hregg-l
ol(1]2(3]4 5/6(7|8]|9
O|C|P|Y|E|H 5|iujQ|s|C|w
11O0O|WIE|[S] I 6|lJ|D|I|A|T
2(N[QIR|P| X TIR|ILIE|A|V
I|IM|G| I |C|Y S|IP|S|K|X|J
4| H|O|IN|Y|E 9lZ|V|IU|IL|M

Options:
1) 00, 76, 68, 89

2)33,22,69, 21
3) 58, 22, 78, 88

4) 58, 75,78, 23
Correct Answer: 58, 22, 78, 88
Candidate Answer: 58, 22, 78, 88

QID: 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 39T el § @ 3H S AT @ g
orm & wyr ampla BT &

&
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Options:
1)

N
2)

7
\Z

4)

Correct Answer:

7

%

Candidate Answer:

1

QID : 105 -
Which answer figure will complete the pattern in the
question figure?

wia W HEG UH g & uaww o g
AT

-~
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 106 -
If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

fg T gUuT @ AB YT W @ Sw, &t & o
3O AEaal # @ @a O E U e &
e ulatasra geir?

A= B
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Options:
1)

NI

Correct Answer:

A

Candidate Answer:

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ F o aEfaar A fGEm sEER wmee @
ATERL Tead I Whed & ¢ 98 [ hE T ATga
S s game
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Options:
1)

2)

Correct Answer:

Candidate Answer:

QID : 108 - If '+’ means "', '+' means '+', '’ means '+’ and '-' means 'x’, then
19-3x3+6=?
A "+ I =, FT S+, xS I ayr = HT I ko, ar

19-3x3+6=7?
Options:

1) 12

2) 35

3)23

4) 13

Correct Answer: 13
Candidate Answer: 13

QID:109-If5—-2-5=525and 6 —3 —9 = 936, then

5-1-9=2?

qE5-2-5=525aM6—-3—-9 =936 &, ar

5-1-9=7?
Options:

1) 915

2) 195

3) 591

4) 159

Correct Answer: 915
Candidate Answer: 915
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Naval
2. Natal
3. Nanny
4. Naive
5. Nappy

TFAfoTET aea T =GN 3 T ATer ol F TR |

1. Naval
2. Natal
3. Nanny
4. Naive
5. Nappy

Options:
1) 42351

2) 43521
3) 42153

4) 23415
Correct Answer: 43521
Candidate Answer: 43521

QID : 111 - In the following question,select the missing number from the given alternatives.

38, 35,30, 23, ?

TrAtafer v & fev 1w faehedl & & oed 37 <A1 HIiav|

38, 35, 30, 23, ?
Options:

1) 18

2) 16

3) 13

4) 14

Correct Answer: 14
Candidate Answer: 14

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

ST, PQ, MN, JK, ?

T 3iegnA o I §, fored | U 9g o §1 v 1w et & @ a7 weY fawen giee, S 3w @
ST, PQ, MN, JK, ?

Options:

1) GH

2) HG

3) FG

4) HI
Correct Answer: GH
Candidate Answer: GH

QID : 113 - In the following question, select the odd word from the given alternatives.

Terfafer g & few a1v fashedt & & fawe eree; 1 giaw]




11/20/2017 Staff Selection Commision

Options:

1) Orange

Herlr

2) Brinjal

ST

3) Apple

I

4) Grapes

R

Correct Answer: Brinjal

ooy
Candidate Answer: Brinjal

Ecy

QID : 114 - In the following question, select the odd number pair from the given alternatives.

frafaf@d wea 7 v v fwedt & & fawer dear o w giaw
Options:

1) 10 - 100

2)11-121

3) 14-19

4)15-125
Correct Answer: 15— 125
Candidate Answer: 15 - 125

QID : 115 - In the following question, select the odd letters from the given alternatives.

TPrfaf@e year & v arv faemedl & & faws 3l < gl

Options:
1) CE

2) IK
3) PR

4) sV
Correct Answer: SV
Candidate Answer: SV

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Horse, Dog, Tiger
a8 3T AT S i1t T 7 ol & drer o Feitr T FgY 607 el g

H|IST, Fedl, a1
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Options:
1)

2

©) o3

4

5

Correct Answer:

®
e

Candidate Answer:

®
e

QID : 117 - In the following question, select the related word from the given alternatives.

Student : School : : Soldier : ?

Trafafle wea # 4 av et # & et e &1 g

gt : fagaew :: dfF: ?
Options:

1) Army

el

2) Weapon

A

3) Duty

En

4) Gun

4

Correct Answer: Army

i

Candidate Answer: Army

¥

QID : 118 - In the following question, select the related number from the given alternatives.

32:144::56:?
TFrafated uea & fou v fwedt # § g6t dear # giav)

LLINE VY N I RN St
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Options:
1) 252

2) 260
3) 264

4) 248
Correct Answer: 252
Candidate Answer: 252

QID : 119 - In the following question, select the related letters from the given alternatives.

PN:RK::CT:?

TPrtata yea & fev arv faemed! & & Haferd 3Rt & giav)

PN:RK::CT:?

Options:
1) EQ

2) EP
3)FQ

4) FP
Correct Answer: EQ
Candidate Answer: EQ

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.

PURPOSED

AT faewedl & & gg eg AT S foT 1T Aeq & &R T F19T Fleh w6l TR ST Hebell|
PURPOSED

Options:

1) ROPE

2) PURE

3) ROSE

4) DARE
Correct Answer: DARE
Candidate Answer: DARE

QID : 121 - Ais younger than B, B is elder than C, C is younger than A and D is elder than B. Who is the youngest among A, B, C and D?

A BEBIEE, B,CHTSTE, C,ATDIE gurD, BATSTEI A, B, CTur D & & G Brer it &7

Options:
1)A

2)B
3)C

4)D
Correct Answer: C
Candidate Answer: C

QID : 122 - Adi remembers his interview is after 23™ September. While his father remembers his interview is before 25t September. On which date of September
is his interview?

31Te &1 1S & T 3T ATaiceR 23 fadeex & 918 g1 Siafeh 30 [dr 1 I1E § o5 306 Angiicert 25 fadeaX 3 98 &1 3T A8TchR RaFay I fha fafr & §?
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Options:
1) 23

2)25
3) 24

4) 26
Correct Answer: 24
Candidate Answer: 24

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All clouds are rain.
I1. No rain is water.

Conclusions:
I. No cloud is water.
II. Some clouds are water.

A U 10 yeeT H Fo YA 3R 37 16 37 FUAT W IR T Toreehy w910 &, grenifen 3o Qe <i1e aeat & fieerar gt gench §1 a9 vy ud 3t f
uifa Y T R aw la & fread, e 1o et & 3R @ gieaderd )

FYA:
L. T8l areer awt g
IL. RS aefi STl o187 &1

fAsay:

L. IS STE STl el &

I1. F& S1ee el &

Options:

1) Only conclusion (I) follows.

et fosany (1) @e &1

2) Only conclusion (II) follows.

o oy (1) I8 8

3) Both conclusion follow.

a1 & sy T §)

4) Neither conclusion (I) nor conclusion (II) follows.
o oSy (1) o € sy (I1) @@ &1
Correct Answer: Only conclusion (I) follows.
el sy (1) @dl &

Candidate Answer: [ NOT ANSWERED ]

QID : 124 - In a certain code language, "HELP" is written as "GDKO". How is "FIND" written in that code language?

T fafdise i T 7, "HELP" &1 "GDKO" forar STam § | 59 &1 #19r & "FIND" I fha yer forar smoem?

Options:
1) EHOC

2) EHMC
3) EHME

4) EHCO
Correct Answer: EHMC
Candidate Answer: EHMC

QID : 125 - In a certain code language, "CAN" is written as "20" and "ARE" is written as "26". How is "WIN" written in that code language?

T fafdrse i omar i, "CAN" &1 "20" Ja7 "ARE" FT "26" foar SiTar &1 39 FI3 19T 7 "WIN" 1 5 IR forar soan?
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Options:
1) 48

2) 46
3)45

4) 49
Correct Answer: 48
Candidate Answer: 48

QID: 126 -

What is the value of /8 — 2./15 ?

J8-2./15 &1 AT FT 2

Options:
1) V3 ++v2

2)V5-V3
3) V5 + V3

4)V7-V2
Correct Answer: V5 — V3
Candidate Answer: [ NOT ANSWERED ]

QID : 127 - How many factors of 45 are prime numbers?

45 & forcel UTAIEs AT HETd 82
Options:

1)3

2)4

3)5

4)2
Correct Answer: 2
Candidate Answer: 3

QID : 128 - Which of the following is not a prime number?

Ffafaa # T Fia O T 38T T&AT ALY 87

Options:
1) 31

2) 37
3) 43

4) 87
Correct Answer: 87
Candidate Answer: 87

QID : 129 - What will be the remainder when 283 is divided by 22?

283 Y 22 T HIET F¥et G ATHeT FAT gHEMT?

Options:
1)3

2)19
3) 17

4) 16
Correct Answer: 19
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Candidate Answer: 19

QID : 130 - Which of the following number is not divisible by 4?

Fefafea & @ #iq @ dear 4 @ Rwsg a8 2

Options:
1) 113424

2) 213552
3) 314250

4) 52644
Correct Answer: 314250
Candidate Answer: 314250

QID: 131 -

(0.3 —(0.1)° 7

What is the value of [(0.377 (0. 17+ (0.3)x(0.1)]

(0.3 —(0.1)°
[(0.37 = (0.17%+ (0.3) % (0. 1]

Options:
1)0.4

T AT FT &7

2)0.1
3) 0.5

4)0.2
Correct Answer: 0.2
Candidate Answer: 0.2

QID : 132 - A can do a piece of work in 12 days and B in 15 days. With help of C, they finish the work in 4 days. In how many days C alone can do the same work?

A TREY T Y 12 ReAT 3 T TR & 92T B, 15 = F FR ThaT &1 C Y TEraar ¥ 9 4 AT 7 Ry AT F A §1 C 3mhen 39 F A e AT 7 Hem?
Options:

1) 10

2)12

3)8

4) 15

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID: 133 - A is twice as efficient as B and together they finish a piece of work in 18 days. How many days will A take to complete the work alone?

A T E TR B § G & TUT F St ety et s 18 foe F qur o Wl §1 A 31kl 38 1 T foheiel fod 7 T R FehlT 87

Options:

1) 27

2) 24

3) 36

4) 42

Correct Answer: 27

Candidate Answer: [ NOT ANSWERED ]

QID : 134 - If the diagonal of a square is 12 cm, then what is the area (in cm?) of the square?

e fordt gt &1 ot 12 QL. &, o ot 1 & (Q.8.2 &) Fr &2
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Options:
1) 72

2) 722
3) 36

4) 36V2
Correct Answer: 72
Candidate Answer: 362

QID : 135 - The marked price of an article is twice the cost price. For a gain of 20%, what should be the discount percentage?

Tk a1 3T HoT 38 AR Hod A QAT §1 20% 1T IIed e & oI, Pe gferd 21 grei?

Options:

1) 20

2) 40

3) 45

4) 60

Correct Answer: 40
Candidate Answer: 40

QID : 136 - The marked price of an article is 60% more than its cost price. If a discount of 20% is given, then what is the profit percentage?

T aE] I JHfohd Hed 30 HI 7ed ¥ 60% U T IR 20% Fr ge & S, at oner Fw g =2 e?

Options:
1) 14

2) 16
3)18

4) 28
Correct Answer: 28
Candidate Answer: [ NOT ANSWERED ]

QID:137-IfP:Q=2:3andP:R=4:5, then whatis (P + Q) : (Q + R)?

IfEP:Q=2:3amP:R=4:5% a(P+Q): (Q+R)Fargrm

Options:
1)20:27

2)20:17
3)10: 11

4)20:29
Correct Answer: 10 : 11
Candidate Answer: [ NOT ANSWERED ]

QID : 138 - If x/y = 5/4, then what is the ratio of (5x + 6y) and (5x — 2y)?

AT x/y = 5/4 &, A (5x + 6y) TAT (5x — 2y) FT AT FAT gram?

Options:
1)49:17

2)49:19
3)37:17

4)37:19
Correct Answer: 49 : 17
Candidate Answer: 49 : 17

QID : 139 - The mean of 17 numbers is 12. If two numbers 9 and 15 are removed, then what will be the mean of remaining number?

17 Teamast == b 19 3 S S
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Options:
1)11

2)12
3) 13

4) 14
Correct Answer: 12
Candidate Answer: 12

QID : 140 - A man gains 80% by selling an article for a certain price. If he sells it at half the price, then what will be the loss percentage?

T aE] H R RAfRad Hea W SwER U safEd 80% e AT 81 IS a 36 awq W 3l Fierd ) 5=, a gifer s gforera 4w genw
Options:

1) 10

2) 15

3)20

4) 40
Correct Answer: 15
Candidate Answer: 10

QID : 141 - If the rice is sold at Rs 93 per kg, there would be a 25% loss. To earn a profit of 25% what should be the price of rice (per kg)?

fe Araet FT 93 T Ufar 6.3, T gT & ST ST &, o 25%  g1feT &1afT| 25% T SI18T UTCe &hdet & TIW arael aht Hree (AT 6. amm.) foraeir glei anfee?

Options:
1) 155

2) 160
3) 165

4) 175
Correct Answer: 155
Candidate Answer: 155

QID : 142 - If the price of an article decreases by 25%, then to restore its former value by how much percent should the new price be increased?

Tt et aeq & T # 25% T Tl 3T ST 8, A Te o 5 Hed T FATC Tl o [0 78 Hed F fohctat TORIT § Tare gram?
Options:

1) 25

2)20

3)33.33

4) 10

Correct Answer: 33.33

Candidate Answer: 33.33

QID : 143 - If the price of a commodity is decreased by 40% and its consumption is increased by 20%, then what will be the increase or decrease in the
expenditure of the commaodity?

T T BT 40% F & ATl & AT SHHT @I 20% TG AT &, i G TN G H fctet Tfererer &r &afr am ghig grame
Options:

1) 28% decrease

28% T AT

2) 28% increase

28% T q@'

3) 20% increase

20% Fr aﬁ'

4) 20% decrease

20% ¥ Tt

Correct Answer: 28% decrease
28% T AT

Candidate Answer: [ NOT ANSWH
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QID : 144 - A person goes from point P to Q with a speed of 40 km/hr and returns back with a speed 55 km/hr. What is the average speed (in km/hr) of the person
while going from P to Q and coming back?

Tk SieheT 40 125,70, /€eT hT ¥R F foig P & Q e STl & T 55 186,77, /et & a1fel & ara ditear §1 P & Q T Silel o7 arad 371e & egferd 1 3itarer aifey (..
HeT i) FT 87

Options:

1) 47.5

2) 46.31

3) 49.25

4) 44.27
Correct Answer: 46.31
Candidate Answer: 47.5

QID : 145 - A scooter travels some distance at a speed of 12 km/hr and returns at a speed of 7 km/hr. If the total time taken by the scooter is 19 hours, then what
is the distance (in km)?

T TheX 12 oA /eier 1 1 & F& gl a7 AT § 7T 7 TR /der Y i & 91w e ¥l AT THe F 58 T FA H Fel 19 6 AT W90 &, o g (A
H)FATE?

Options:

1) 84

2) 80

3)72

4) 76
Correct Answer: 84
Candidate Answer: [ NOT ANSWERED ]

QID : 146 - Same principal is invested in schemes of compound interest and simple interest. The interest obtained in simple interest and compound interest
schemes after 2 years are Rs 1200 and Rs 1290 respectively. If the rate of interest is 15%, then what is the principal (in Rs)?

FHAN T[T Thg i saTeT 3T ATUROT SATT T AT 7 Faer fonam Sem §1 WremoeT sarer 3R Twafe saret Averelr # 2 gt 3 &g saTer: 1200 ¥ 3X 1290 ¥ sarar
o BIeTT &1 TG ST &X 15% &, o HeawleT (¥ H) 47 grem?

Options:

1) 4000

2) 6000

3) 2500
4) 3000

Correct Answer: 4000
Candidate Answer: 4000
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QID : 147 -

The line chart given below shows the sales (in crores)
of a company for the years 2009 to 2016.

A BT o t@r B # 5§ 2009 @ 2016 9% TH
ST T BT (T A F R = 2

120 - 105
— 100 -
73]
@ -
'Q'E_ 80 -
S
= 60 -
gg 40 -
©
w 20 1
0 T T T T T T T 1
o O 99— ™o 0 < 1n ©
Q - - - - - - -
[en] o o o o o o o
(o} (o} o~ N (o} (o} (o] [
Year/a¥

What is the percentage change in the company sales from year 2014 to year 2016?

ﬁzomﬁzomaﬁﬁ%ﬁﬁﬁmﬁﬂﬁ?mwmgm%‘?
Options:

1) 20% increase

20% i

2) 20% decrease

20% FHY

3) 25% decrease

25% T

4) 22% decrease

22% HFHY

Correct Answer: 20% decrease
20% FHFY

Candidate Answer: 20% decrease
20% &Y
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QID: 148 -

The line chart given below shows the sales (in crores)
of a company for the years 2009 to 2016.

A BT o t@r B # 5§ 2009 @ 2016 9% TH
ST T BT (T A F R = 2

120 - 105
— 100 -
73]
@ -
'Q'E_ 80 -
S
= 60 -
gg 40 -
©
w 20 1
0 T T T T T T T 1
o O 99— ™o 0 < 1n ©
Q - - - - - - -
[en] o o o o o o o
(o} (o} o~ N (o} (o} (o] [
Year/a¥

In how many years was the sale of the company more than the sale in 20117

mﬁaﬁﬁé:q;ha?rﬁaﬁraézonﬁgéﬁﬁﬁmzm

Options:
1)4

2)5
3)3

4)2
Correct Answer: 3
Candidate Answer: 3
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QID : 149 -

The line chart given below shows the sales (in crores)
of a company for the years 2009 to 2016.

A BT o t@r B # 5§ 2009 @ 2016 9% TH
ST T BT (T A F R = 2

120 - 105
— 100 -
73]
@ -
'Q'E_ 80 -
S
= 60 -
gg 40 -
©
w 20 1
0 T T T T T T T 1
o O 99— ™o 0 < 1n ©
Q - - - - - - -
[en] o o o o o o o
(o} (o} o~ N (o} (o} (o] [
Year/a¥

What is the average sale of the company from year 2009 to 2015?

a§ 2009 & 2015 deh &=t v 3irad fshr = &2

Options:
1) 78.5

2) 82,5
3)78

4)79
Correct Answer: 78
Candidate Answer: 78
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QID : 150 -

The line chart given below shows the sales (in crores)
of a company for the years 2009 to 2016.

Arr BT 9T Y@r B 7 s§ 2009 @ 2016 O UH
ST T BT (T A F R = 2

120
100

105

Qo
o
1

Sales (in crores)
fashy (#03 #)
3

40 ~
20
0 T T T T T T T 1
(=] o = o™ [ o Ip] ©
Q - - - - - - -
(e} =] =) [} o o [en] o
o™ o o~ o o™ [} (] [
Year/a§

In how many years was the sale of the company a multiple of 10 crores?

Tohctet ant o forw ot <t fashr 10 =305 &1 aqorer A2
Options:

1)1

2)4

3)3

4)6
Correct Answer: 1
Candidate Answer: 6

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Our soldiers sit in the top, (1)/ hold the ridge and can swiftly intervene, (2)/ as they pro-actively did in mid-June. (3)/ No Error (4)

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 1
Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Earlier in June, Chinese troops (1)/have destroyed two of the old (2)/unmanned "self-help bunkers". (3)/ No Error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2

Fandidatesnswer: & P T R s e R At o D 02/
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QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The unit is comparatively
Options:

1) remain

2) easy

3) busiest

4) enough

Correct Answer: easy
Candidate Answer: easy

to install and cheap to operate.

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Rohan and Sohan are brothers but the is very poor.
Options:

1) later

2) farther

3) further

4) latter
Correct Answer: latter
Candidate Answer: latter

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Errand

Options:
1) Vacation

2) Disruptiveness
3) Assignment

4) Holiday
Correct Answer: Assignment
Candidate Answer: Disruptiveness

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Despise
Options:
1) Admire

2) Appreciate
3) Undervalue

4) Cherish
Correct Answer: Undervalue
Candidate Answer: Undervalue

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Horrid
Options:
1) Offensive

2) Pleasant
3) Wonderful

4) Delightful
Correct Answer: Offensive
Candidate Answer: Offensive

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Extreme
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Options:
1) Mild

2) Highest
3) Maximum

4) Supreme
Correct Answer: Mild
Candidate Answer: Supreme

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Miserable
Options:
1) Joyful

2) Agonized
3) Inferior

4) Penniless
Correct Answer: Joyful
Candidate Answer: Joyful

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Lucid
Options:

1) Explicit

2) Crystal-clear
3) Vague

4) Understandable
Correct Answer: Vague
Candidate Answer: Crystal-clear

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On all hands

Options:

1) Rarely

2) Occasionally
3) Everywhere
4) Frequently

Correct Answer: Everywhere
Candidate Answer: Everywhere

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Hold on

Options:

1) To wait for a short time
2) Still breathing

3) Speak less

4) Frequently
Correct Answer: To wait for a short time
Candidate Answer: To wait for a short time

QID : 163 - Improve the bracketed part of the sentence.

Both these systems are acting together (indicate) a lot of rainfall activity in the city.
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Options:
1) indicate to

2) indicating
3) indicate about

4) No improvement
Correct Answer: indicating
Candidate Answer: indicating

QID : 164 - Improve the bracketed part of the sentence.
There was also a (signal fall) in Bandra following the heavy rains.

Options:
1) signal failing

2) signal failed
3) signal failure

4) No improvement
Correct Answer: signal failure
Candidate Answer: signal failure

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Belonging to long past
Options:
1) Ancient

2) Coefficient
3) Persistent

4) Ambient
Correct Answer: Ancient
Candidate Answer: Ancient

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

To free prisoner on payment
Options:
1) Lesson

2) Hansom
3) Ransom

4) Jettison
Correct Answer: Ransom
Candidate Answer: Jettison

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Glamour

2) Glamoer
3) Glamer

4) Galamer
Correct Answer: Glamour
Candidate Answer: Glamour

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Prononciation

2) Pronunciation

3) Pronunciasion

4) Pronounciation
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Correct Answer: Pronunciation
Candidate Answer: Pronounciation

QID : 169 - Rearrange the parts of the sentence in correct order.

I was

P: of the family

Q: as a member

R: accepted by John

Options:
1) PQR

2) RPQ
3) RQP
4) QPR

Correct Answer: RQP
Candidate Answer: RQP

QID : 170 - Rearrange the parts of the sentence in correct order.

Earth is considered

P: suitable for the life

Q: existence in the whole universe
R: as the only planet

Options:
1) PRQ

2) QPR
3) QRP

4) RPQ
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Despite the formation of various effective rules and regulations by the Indian government to and control the crimes against women, the , and
frequency of crimes against women are increasing day by . Women status in the country has been more offensive and dreadful in the last few years. It has
the confidence level of women for safety in their own country. We should not the government because women safety is not only the responsibility

of government only rather, it is the responsibility of each and every Indian citizen especially men who need to change their mindset for women.

Government to and control
Options:
1) cuddle

2) handle
3) dwindle

4) fiddle
Correct Answer: handle
Candidate Answer: handle

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Despite the formation of various effective rules and regulations by the Indian government to and control the crimes against women, the , and
frequency of crimes against women are increasing day by . Women status in the country has been more offensive and dreadful in the last few years. It has
the confidence level of women for safety in their own country. We should not the government because women safety is not only the responsibility

of government only rather, it is the responsibility of each and every Indian citizen especially men who need to change their mindset for women.
The and frequency

Options:

1) distance

2) number

3) reason

4) answer

O R RO AR R B e o Lol W 12
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Correct Answer: number
Candidate Answer: number

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Despite the formation of various effective rules and regulations by the Indian government to and control the crimes against women, the , and
frequency of crimes against women are increasing day by . Women status in the country has been more offensive and dreadful in the last few years. It has
the confidence level of women for safety in their own country. We should not the government because women safety is not only the responsibility

of government only rather, it is the responsibility of each and every Indian citizen especially men who need to change their mindset for women.

Increasing day by .
Options:
1) evening

2) night
3) day

4) morning
Correct Answer: day
Candidate Answer: day

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Despite the formation of various effective rules and regulations by the Indian government to and control the crimes against women, the , and
frequency of crimes against women are increasing day by . Women status in the country has been more offensive and dreadful in the last few years. It has
the confidence level of women for safety in their own country. We should not the government because women safety is not only the responsibility

of government only rather, it is the responsibility of each and every Indian citizen especially men who need to change their mindset for women.

It has the confidence level of women
Options:
1) increased

2) neutralized
3) initiated

4) decreased
Correct Answer: decreased
Candidate Answer: decreased

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Despite the formation of various effective rules and regulations by the Indian government to and control the crimes against women, the , and
frequency of crimes against women are increasing day by . Women status in the country has been more offensive and dreadful in the last few years. It has
the confidence level of women for safety in their own country. We should not the government because women safety is not only the responsibility

of government only rather, it is the responsibility of each and every Indian citizen especially men who need to change their mindset for women.
We should not the government

Options:

1) blame

2) rename

3) became

4) inflame
Correct Answer: blame
Candidate Answer: blame

QID : 176 - What is per capita income?

wifer saferd 3mar &7=m §?

IR T R et R i e s I 0/
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Options:

1) National income

TSN 1

2) Average income

Jrad 3ma

3) Gross income

?’W AT

4) Capital income

_qTT 31T

Correct Answer: Average income

Jirae
Candidate Answer: [ NOT ANSWERED ]

QID : 177 - Letter 'D' is in GDP stands for in economics.

Jrefemes #F Sy #F arew Er I Tellehcd el g

Options:

1) Domestic
efr

2) Development
[CEDE:

3) Depriciation
Hederdl

4) Destruction
foemer

Correct Answer: Domestic
&efrr

Candidate Answer: Domestic

e

QID : 178 - How many Fundamental Duties are given in Indian Constitution?

AR Eiaur # foreet Ailfares oea faw gu &?

Options:
1) 10

2)11
3) 12

4) 14
Correct Answer: 11
Candidate Answer: 12

QID : 179 - Who is the supreme law-making institution in India?

I 3 Halee Hlefet detlel ATel FEAT e 87

Options:

1) The President of India

UR & Tegafa

2) The Prime Minister of India

AR & TEMTHAT

3) The Chief Justice of India

AR & HEF e

4) The Parliament of India

HRAT T8

Correct Answer: The Parliament of India
R H8E

Candidate Answer: The Parliament of India
RS HEE
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QID: 180 -
Match the following.

TeafeaT &1 Fena fiaT

Term / g Meaning / 313
A. Diwani 1. Pilgrim tax
Srarey s @
B. Faujdari Adalat 2. Right to collect land
RIS HeeTa revenve
H-USET THT T ol
HYER
C. Jazia 3. Criminal Court
T HTGUTF AT
Options:
1) A-2,B-3,C-1
2) B-1, C-3, A2
3) C-1, B-3,C2
4)B-2, C-3, A1

Correct Answer: A-2, B-3, C-1
Candidate Answer: A-2, B-3, C-1

QID : 181 - What was the revenue system during Akbar’s reign called?

37eheT & ATHA 3 [STEd STSGEAT ST T gl ST AT?

Options:

1) Jagir

S iciicy

2) Iqta

SRl

3) Mansab

HelOs

4) Zabt

ofsd

Correct Answer: Zabt
Sl

Candidate Answer: Mansab
Heldsd

QID : 182 - What is the season during winter solstice in the Southern Hemisphere?

BT 3rieT % TAT AN e A HheT T g AN &2

Options:
1) Winter
o

2) Summer
Ao

3) Spring
FEa

4) Autumn
qdsis
Correct Answer: Summer
w7
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Candidate Answer: [ NOT ANSWERED ]

QID : 183 - Which of the following latitude passes through Asia?

freafafle # @ wla-ar sraier tar TRIEr & g1 IR 82

Options:

1) Tropic of Capricorn only

FaeT HAT @M

2) Tropic of Cancer only

FIA Fh @I

3) Equator only

Shael S-HET TEm

4) Tropic of Cancer and Equator only

el R TG T -7 T

Correct Answer: Tropic of Cancer only

Fael Thep T@T

Candidate Answer: Tropic of Cancer only

S Fh TGN

QID : 184 - The function of vitamin K is in .

et K 1 b gl

Options:

1) Regulation of calcium and phosphorus metabolism
o= 3R BT 39T 1 HaeEeT
2) Blood clotting

JFd T UFRT STATAT

3) respiration

[AdHA

4) Carbohydrate metabolism

FIEIEISST ST

Correct Answer: Blood clotting

ek &T UeFehT STHTT

Candidate Answer: Blood clotting
IFd ST AFhT STATAT

QID : 185 - Tendon connects \

oo s &l

Options:

1) Cartilage with muscles

3T &t afrEt @

2) Ligament with muscles

foemaT @ 9kt &

3) Bone with bone

Fefe = gt @

4) Bone with muscles

Fefar @y AR &

Correct Answer: Bone with muscles
et @1 AR &

Candidate Answer: Bone with bone

i3l A ez @
QID : 186 - What is blood pressure?

I SIS T §?

Staff Selection Commision
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Options:
1) The pressure of blood on the heart muscle
B&T AT I Yo T Gad
2) The pressure of blood exerted on the walls of arteries and veins
At 3R Rt f fAfcast ® & a 1 g
3) The pressure of blood on the walls of veins only
RT3 i Afcaat W o #1 gae
4) The pressure of blood on the walls of arteries only
Al A Aifed ) & d &1 gare

Correct Answer: The pressure of blood exerted on the walls of arteries and veins
Afar 3 RR1T S Afcaal W) & #7 ea

Candidate Answer: The pressure of blood exerted on the walls of arteries and veins

AT 3R RRTT i AT ) T #7 ga

QID : 187 - What is the fundamental unit of time?

HHI I FHA AR T 872

Options:

1) Minute

e

2) Hour

HeT

3) Second

v

4) Day

et

Correct Answer: Second

Jehug

Candidate Answer: Second

Yooz

QID : 188 - What is the thin wire in the bulb which glows when an electric current passes through it called?

Fod F Idel dR e f8egd 4R 3 Farfed g TR ag &ied gial ¢ 39 T el 67

Options:

1) Filament
fremHTe

2) Holder

gt

3) Connecting wire
HAT AR

4) Element

TlHT

Correct Answer: Filament

reHee

Candidate Answer: Filament

e iracr

QID : 189 - Which of the following is/are secondary device/devices of storage device?
1. Hard drive

II. CD

III. USB drive

Aefafd # & FiaT A/l T TUT TR T ATCITRF ATE §7?

L g gsa
IL. 4. 3
IIL. g, 4. 1. 3)59
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Options:

1) Only IT

Fael 11

2)Only I

Fger I

3) Only III

Faret 111

4) Only II and III
Fael IT a2 11

Correct Answer: Only I
had [

Candidate Answer: Only I
el I

QID : 190 - Which is the most abundant metal in the earth’s crust?

Tt ST of-Teer F W X AT H 4T HieT A &2

Options:

1) Iron

Ei

2) Silver

e

3) Aluminium

Tt

4) Copper

GIEl

Correct Answer: Aluminium

TedfAfaH

2
Candidate Answer: Aluminium
TegfafaTsT

=1

QID : 191 - The tip of the lead pencil is made of

Ry hr e FT A I T gl

Options:
1) coal
FrICT

2) graphite
IPIST

3) zinc
S

4) charcoal

AR

Correct Answer: graphite
IAFIET

Candidate Answer: graphite

IhIge

QID : 192 - Chlorofluorocarbons which damage the ozone layer of the atmosphere are not used in which of the following?

FORIFOIY et ST TS 1 3oleT Ter T ETRITEer el €, P Toe 3 & Rt saar o7 g

Options:

1) Refrigerator
Wrenex

2) Air conditioner
TIT FHUSRER

3) Aerosol spray
WrEfe FER

4) None of these

G A IS AAE
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Correct Answer: None of these
T J FS AT
Candidate Answer: None of these

G | IS e

QID : 193 - The policy holders of Pradhan Mantri Suraksha Bima Yojana get accidental insurance cover of what amount (in Rs)?

STRITTHAT FRATT SIAT Aot & TR fetelt ARY (T #F) T gelcer ST TETOT 1o Flel §2

Options:
1) 50000

2) 100000
3) 200000

4) 500000
Correct Answer: 200000
Candidate Answer: 100000

QID : 194 - Who invented Dynamite?

SIATHAISE & ATTASHR forger frar?

Options:

1) John Dalton

SileT STec

2) Sir Chandrasekhara Venkata Raman
T TegAT The AT

3) Alfred Nobel

3eths e

4) Otto Blathy

3iveY somfr

Correct Answer: Alfred Nobel
HeWhs e

Candidate Answer: Alfred Nobel
3oths e

QID : 195 - Dutee Chand is associated with which of the following?

o e Pt 2 & Rt o 7

Options:

1) 100 metres race

100 Frex gy

2) 3000 metres steeplechase
3000 FHreX el amerm gl

3) High Jump

oo

4) Triple Jump

[EET)

o
Correct Answer: 100 metres race

100 Hex &is
Candidate Answer: [ NOT ANSWERED ]

QID : 196 - In which of the following city Maharaja Sawai Jai Singh II of Jaipur didn't build the Jantar Mantar?

e 7§ 58 AT & ST & AERIeT 9ars o1 g gfadier of Siax Ao i fostor wgt far ar
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Options:
1) Jaipur
AR
2) Ajmer
SR
3) Mathura
e
4) New Delhi
% el
Correct Answer: Ajmer

3SR

Candidate Answer: New Delhi

7§ el

QID : 197 - Which film won the award for the Best Feature Film at the 64th National Awards?

e fihew ¥ 64 I ToE TERRT & FaAvS e fvest 1 [EAR i 2

Options:

1) Baahubali: The Beginning
STgerelt : &Y farfeiar

2) Kaasav

Hraq

3) Paan Singh Tomar

9Tt T e

4) Jolly LLB 2

SiTell TeTTarell 2

Correct Answer: Kaasav
raq

Candidate Answer: Kaasav
SrET

QID : 198 - Who is the author of the book named ‘Food for All'”?

"FS I i AAF Trcih G/ AT et 67

Options:

1) Uma Lele

AT orel

2) Bhim Singh

e g

3) Tarun Vijay

awoT e

4) Tarun Khanna

TR Yol

Correct Answer: Uma Lele

AT olrel

Candidate Answer: Tarun Vijay
awor e

QID : 199 - India has acceded to the Ashgabat Agreement which is an agreement on

AR o 3RPTEd TAS 1 TR B § S fw W T FAFT

Options:

1) Transit corridor

Tifore FIRER

2) Water sharing

STl |IST el

3) Information technology

AT STt et Sieiterehr
4) None of these

G A IS AAE
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Correct Answer: Transit corridor
gifoie HIER
Candidate Answer: Transit corridor

gifore HIREN
QID : 200 - Operation Maitri was India’s Army-led rescue and relief mission in quake-hit

FHforereT T AR T U Vel F o¥efed H HFFT s F qETT vd g AR |

Options:

1) Pakistan

arfeedteT

2) Sri lanka

Areiar

3) Nepal

AqTeT

4) Bangladesh

ElECicR)

Correct Answer: Nepal

EEIc

Candidate Answer: Nepal

ATt




